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I. Choose the correct answer.                                                       8 x ½ = 4 Marks 

 

a)  When the time is 8:40, the minute hand is at ________  (8, 5, 12) 

 

b)  2100 cm  =  ___________m (210, 21, 21000)     

 

c)  C.P. = R.O 850.000, S.P. = R.O 950.000 , Profit = R.O _______ (1800, 850, 100) 

 

d)  8 kg 400 g =  ________ g   (8040, 840, 8400) 

 

e) We measure the capacity of a teaspoon in ______. (l, kl, ml) 

 

f)  5 minutes  =  ______ seconds (500, 300, 30) 

 

g)  S.P. = C.P. ___ loss.   (+, -, x) 

 

h)  Which of these is greater than a metre?  (km, dm, mm) 

 

   II. Convert.                                                                                  6 x ½  = 3 Marks 

 

a) 5840 mg  =  ______g  _______ mg 

  

b) 3 years 2 months = _______ months 

 

c) 8:30 p.m. = ______ hours 

 

d) 7.08 l = ________ ml 

 

e) 128 minutes = _______ hours _______ minutes  

 

f) 1530 hours = _______ p.m.                                                  

 

 



 

    III. Solve.                                                                         4 x 1 = 4 Marks 

 

a) Add. 

 

1) 62 l  850 ml  :  84 l  570 ml  :  3 l  500 ml 

 

2) 20 minutes 25 seconds and 5 minutes 30 seconds 

 

b) Subtract. 

 

1) 2 years 4 months from 5 years 10 months. 

 

2) 205 m 27 cm – 182 m 50 cm 

 

    IV. Do as directed.                                                                                  5 x 1 = 5 Marks 

 

a) Find the C.P. if S.P. = R.O 725.000 and profit is R.O 25.000 

 

b) Find the time 3 hours before 12:30 p.m. 

 

c) What is the loss if C.P. = R.O 1000.000 and S.P. = R.O 974.000? 

 

d) Find the time interval between 7:00 a.m. and 2:30 p.m. 

 

e) Find the profit or loss if S.P. = R.O 1075.500 and C.P. = R.O 986.000 

 

       V. Solve the word problems.                                                           2 x 2 = 4 Marks 

a)  Hari bought a car for R.O 9850.000 and sold it for a profit of R.O 100.000.  

Find the selling price of the car. 

 

b) There were 970 kg of rice in a shop. Out of this 250kg 500g of rice was sold.  

How much rice was left? 

 


